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l.a) Differentiate between Prismatic compass and Surveyor’s compass with reference to

readingand tripd, .. . . . L L . ,
b Wpat do you understand___by 01051‘9.% error‘7 Show how car]____lt be adﬁ!‘s‘[ed by graphlcal - _‘
‘method..: [/ v.4 [ I\ A BT A F

2.a) Convert the whole circle bearing into reduced bearing: 50°, 176°, 210°, 232°, 150°, 76",
310°, 242°.
b) Explain the principle on which chain survey is based. [8+7]

m. Rule out a page of Ievel book and enter the readmgs Calculate the R.L’S of the
points by rise and fall method. [15]

State the determination of capacity of reservoir.
E}gplam the varlous methﬂds for computatton of areas alorrg 1rregular -boundaries? [8+?]

.....

"'(The-lengths and’ bearlngs of the four imes of a closed traverse ABCDE Dcfermme the-
length and bearing of the fifth line EA.

Line Length Bearing
AB 194.1 m 85’
v [ .201.2.m ¥ e 15" i
Ly b = LT 7 4 [ 165.4m LN 2853 * ' A
.......... DE - 7 1926m 7 | f 195930 ;
EA ? ?
b)  Write the permanent adjustments in theodolite. [8+7]

6.a) How do you measure horizontal angle between two points with the help of a theodolite
by repetition method?

b }Ygte the’ temporgg adjuétments m Eheodq_l_rte ------ [S?L?] ______
S P o %, ! ; - ; " 1 f(;w ------ 2 G B 5
7. A Slmple c;rcular curve is to have a radlus of 573m. The tangents mtersect at chain age

1060 m and the angle of intersection is 120. Find: a) Tangent distance b) Chain age at
beginning and end c) Length of long chord d) Degree of curve ) Number of full and
sub-chords. [15]

"8.a) Hew would you eﬁiplam about the photomaps and mesa;ﬁs"
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